1 = &rE e o, 09 WA Ape] o] SRS otefet.

5 ER
=%



ol

or

<

201 201
50 55

402
111

®

4015
990

@

4019
999

@



o BV § feldrtotd AS BF Zeket
(a1
H7
@ -10 © %7 ® 0
@ n @ 4.1727 ® -3
2 12
® -3 © 0.35555 ® <




4. 294 £8A4AFE el E Ho] 22 2129
@ 0.333---=0.33 @ 1.030303--- = 1.03
® 0.0060606 - - - = 0.0060 @ 2.020202--- = 2.0

® 23117117 --- = 2.3117



@ 5.14
® 0.925



i

o]

27} 2%t e, o) S

d

&8s 0,370 o8 AA5E Fohel 1
1235

Z5le T 2ele] 4lss BE 12

\DHJ

—

@D 15 @ 35 ® 45 @ 50 ® 90



Pl e ol 1) 4) ok

o
vheh 4 91et,

@ #

® 0O, ONGNC)

ORON®

® A, 0.6

@ (A, 0, ®



11 =
a2 2 %—% A2 Hety= Hgoltt, O ~ @9 5012 =2
2 G2 ALY
1 11 11x© _ﬁ_@
20 29x5 2x5x ® @
D 2 @ ©O5
@ @ 100

® © 52
® @ 0.55



, 257 otgl] 50 HA 2] 9]

SHA S 3.12405 9] £=%hatt

s
gL

9.

,a+b9

S}
=

A2 bt

A
x



*2,

= P
, 50 J1A 2k2] o] S2AH-E



11.

92 135 2 B4 genfe Bolth [
S EEEEE Y
) 1.35 2 x 2 5,

rO
=
o
1
o
1=}
rlo
4>
i

x=1.3535---@

[ ]x=1353535---@

™,

Q-0 = At

ot
e

]_

HEgN

> EE
B =
> R

B =



12, Theg A4tslo] B4 tiehfiolat.

0.1+ 0.04 + 0.005 + 0.0004 + 0.00005 + - - -

e g
c



13.

o= 8 2717 22 2R E Az Uad g o Al AR o] sigshe

@D 0.3742 @ 0.3742 @ 0.3742

@ 0.3742 3 0.3742



14. x =038,y =022 ", 594 #He a5 ety

g}

D 2 ® 3 B 4 @ 5 3 6

ok



2~
T

18l
=

3
1

Ato] o] 4= Fo| A ERIF 24010 {3tAag =R UE

1}

1
6

15.

A



o] gto] e2?

D 60 @ 62 3 65 @ 68 B 70



17.

3654

2T bed Ol & r
5990 0.abed XN\ AX a, b, c,d =0, 1,

olf, a4+ b+ c+d 2 F#2?

D 21 ® 22 B 23



E10<x<20 % A=)

tofet (H x

S

Ak St xoy O S 7



?

2 T A AA5D T, atb 9 L

e

7} 7+

® 10 11 @ 12 ® 13

@D 9



a+b 9 327

@D 725 @ 425

3 365

@ 92



